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Задание №L2_06

Вы  услышите  диалог. Определите,  какие  из  приведённых  утверждений  А–G  соответствуют
содержанию текста (1 – True), какие не соответствуют (2 – False) и о чём в тексте не сказано, то
есть  на  основании  текста  нельзя  дать  ни  положительного,  ни  отрицательного  ответа
(3  – Not stated).  Занесите номер выбранного Вами варианта ответа в таблицу. Вы услышите
запись дважды. 

 A. Anna doesn’t want to talk about her medical problem.
 B. Anna sent Mike an invitation to the party via e-mail.
 C. Mike was away on holiday on Anna’s birthday.
 D. Anna wants to buy a portable computer with the check.
 E. Anna doesn’t think she has enough money to buy a computer.
 F. Anna has been fond of photography for a long time.
 G. Anna is free for the coming weekend to shop with Mike.

Ответ:
Утверждение A B C D E F G
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